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ISBN 978-5-534-09561-6. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 
.D4=F [E4=F]. 4 URL: https://www.urait.ru/bcode/564321 (44F4 >5D4M5=<O: 
10.03.2025). 
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9. �54D>?>?L7>64=<5 XXI 65> : <56>FD4E?.=4GG.-F5E=. 6GD=4? / GGD54<F5?L : 
�5>><<5D. ?4DF=5DEF6> «�4F.4EE>F. ?> M>E?5DF<75 =54D»; 7?. D54. ,. �. �<D46>6. 
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https://elibrary.ru/contents.asp?titleid=28192 (44F4 >5D4M5=<O : 10.03.2025). 
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4. ���&$��, � �&���� $��'�,&�&�� �%�����/   
''����� ��%&�����/ 

 

$57G?LF4FO >5GG5=<O  �D<F5D<< >F5=>< �5F>4O 
>F5=>< 

�=4=<O: 
2 ?D46<?4 M>>?>7<G5E>>= 557>?4E=>EF< ?D< 

6545=<< ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
2 >E=>6=O5 D5EGDEO, 7445=EF6>64==O5 6 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<;  
2 ?GF< >55E?5G5=<O D5EGDE>E55D565=<O; 
2 ?D<=F<?O 55D56?<6>7> ?D><76>4EF64; 
2 >E=>6=O5 =4?D46?5=<O <7<5=5=<O 

>?<<4F<G5E><E GE?>6<= D57<>=4, 6<4O < 
>?4EE<D<>4F<N ?D<D>4=OE D5EGDE>6, GE?>6<O 
GEF>=G<6>7> E>EF>O=<O M>>E<EF5<; 

2 7444G< >ED4=O >>DG64NM5= ED54O, 
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2 >E=>6=O5 <EF>G=<>< < <4ELF45O >5D47>64=<O 
>FE>4>6 ?D><76>4EF64; 
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?D54>F6D4M5=<O < G?46?<64=<O 6O5D>E>6, 
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>G<EF>< 747>6OE 6O5D>E>6 < EF>>>6 
?D><76>4EF6; 
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D5L5=<< 7444G, 
?D<<5D>6, 
6O?>?=5=<< 
G?D46=5=<=, 
FDG4>6OE 7444=<=, 
?45>D4F>D=OE D45>F, 
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GF<?<74F<< 747>6OE 6O5D>E>6, EF>>>6, F65D4OE 
>FE>4>6; 

2 >?D545?OFL M>>?>7<G5E>GN ?D<7>4=>EFL 
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